PAGE  
1

Tabel 6.3 Pozitii de acord pentru T si SPC pe DL1500, cu Balun 1:4 ridicator. Z = 200 Ω   

	Frecventa
	1,85
SWR=5,0

RL=-3,5

Z=48
R=19

X=45
	3,65
SWR=4,2

RL=-4,2

Z=90
R=48

X=77
	7,1
SWR=3,8

RL=-4,7

Z=146
R=117

X=38
	10,1
SWR=3,8

RL=-4,6

Z=174

R=159

X=69
	14,2
SWR=4,0

RL=-4,5

Z=194

R=189

X=42
	18,15
SWR=4,1

RL=-4,4

Z=204

R=204

X=0
	21,2
SWR=4,1

RL=-4,3

Z=208

R=208

X=0
	24,95
SWR=4,2

RL=-4,2

Z=212

R=212

X=0
	28,5
SWR=4,2

RL=-4,2

Z=213

R=213

X=0

	T C1 div
	-
	-
	-
	48
	35
	28
	22
	16
	12

	T C2 div
	-
	-
	-
	45
	65
	49
	29
	19
	15

	T L spire
	-
	-
	-
	4,25
	2,90
	2,10
	1,71
	1,46
	1,19

	SPC C1 div
	-
	-
	-
	57
	43
	33
	22
	15
	12

	SPC C2 div
	-
	-
	-
	48
	68
	36
	25
	20
	15

	SPC L n.sp
	-
	-
	-
	2,85
	1,09
	1,00
	0,99
	0,77
	0,60


